Warm Up 11/26/18

1. Solve using substitution:
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3. Write in slope-intercept form: 3y-4y =28
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METHOD




Steps to Solve

1. Make sure the equations are lined up!

2. ADD or SOBTRACT the

equations to eliminate the variable with
common Coe.f¥rcients .

3. SO\VQ/ for the remaining variable.
4. Plua_tn your answer into either
originaT)equation and _Solve, for the
other variable.







WATCH again.....then we'll copy down
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(% b\) B :Z - Terms?
CA R o,
- exm
- Z(%)T%(j =i \I/ =
—( __
413920 AN
33 =2
J=4



%‘1 0 *Op(]))fsite
—]_ 3)( y Identical
// 5) ' %E Terms?







